
2B

1) incorrect

2) incorrect

3) correct

4) correct

5)
y4 + y2

y2

9X + 3
(X + 1)(X - 1)

3
4

6) 6X + 3A + 3X -8\2X + A + X) =3X + A
3 -8"'

16X3y + 8X2y ~(8X2 + 4X)
7) 2XY pt<:'f 8X2 + 4X

2R+2 = 2~ = 2
9) (R+ 1) ..(.Ek-r)

10) 5X2 - 5A2
5A

=3'{X2- A2) = X2 - A2
.-JfjA A

8(X-2) + -1(X+2) = 7X-18
11) (X + 2)(X - 2) (X - 2)(X + 2) (X - 2)(X + 2)

1.i.8.ID --ilia _ AB + 12
12) 2(AB) + AB(2) - 2AB

8(B) 3(A) 8B - 3A
13) 2A(B) - 2B(A) = 2AB

) XY(X) + l:r(Z) = X2y + Z2
14 Z(X) )QI" (Z) XZ

15) (2)X2 _ (3)X + (2)2 = 2X2 - 3X + 4
(2)3 (3)2 (2)3 6

X(X + 1) + 3Y(Y)
16) Y(X + 1) (X + 1)(Y)

X2 + X + 3y2
Y(X + 1)

2C

1) 1 -1 =0, correct 14) A-3 B4

2X 3
--+--X+6 X+6

2) incorrect, should be

[~=~P -~J70=
2 5 7

175 = 28P - 1003:?'l'-y2 '!M6
4) ~ - ----;g:- = 3y2 - 6 275 = 28P

28 28

4 2
1N<2Y"- 'It-.X~

5) -- + -- =4X2y + 2X~N ~N
16) [.2X + .03X = .69]100

20X + 3X = 69
(2)A C 2A + C

6) (2)B +2B=~ 23X = 69 X=3

7) (7)X + (4)Y = 7X + 4Y
(7)4 (4)7 28 17) -7B + 28 + 21B

5·5 X·X 25 + X2
8) """5-X + """")05 = ----sx 18) X2YZ + Xy2Z + XYZ2

9) 6X9

19) -4.32+2-5-16-221=

-4·9+2-5-16=

-36 + 2 - 5 - 16 = -55

11) 10-8
1or-

108

12) X=3

1
20) (6 + 3)2 - (4 - 8)2 + 3 + 3" =

1
81 -16+3+ 3"=

81-16+9=74

(J)
o
5-
o·
::::l
(/)

ro
OJr\,
o

13) X2



lE

1)
1
9

1
2) --

108
[
~=_~+~Alx60=

3 4 5 J
100 = -135 + 96A
235 = 96A
A = 235/96

4) 111-0 = 111 = 11

5) 340

14) [3X-l.6=.34Jxl00

300X - 160 = 34

300X=194
X = 194/300 = 971150

6) 56

15) M(9 - 10M2 + 19M)

7) B11C-2

8) C-6D12
16) -36M - 27M2 =

9M(-4 - 3M)

9) 79/16

17) XA4 + 2X2A4 - A5

10) 10,000

11) [5 _1_ Y _ ~ = ~ l x 18 =L 2 9 18J

-99Y - 4 = 5
-99Y = 9
Y = -1/11

19) -19 -1-141+ 36 =

-33+36=3

12) [-.7A + .8A = 1.21x 10:} -7A + 8A = 12
A = 12

20) 15+49-7+2=59

2A

1) correct

2) correct

3) incorrect
X2 + 3X + __ 6__

X2 + 2X + 7 X2 + 2X + 7 X2 + 2X + 7

4) incorrect = 2

5) 4X2+X ~(4X+l) =4X+l
X ~

6) y2 + 2Y .>ft,Y+ 2) = Y + 2
Y .>('

4X + 4Y
2

.A"(X+ Y) = 2X + 2Y
e:7)

8) 12AB + 16A2= 4l6:(3B+ 4A) = 3B + 4A
4A .M\

5XY + 20XYZ
9) 5YZ

.8'f{X + 4XZ)
.ft'fZ

X +4XZ
Z

10) 2X2Y - Xy2 = X1(2X - Y) = 2X _Y
XY ~

6 4X 6 + 4X
11) X+2+X+2 ="""X+2

3(X) (4)3 _ 3X + 12
12) 4(X) + (4)X ---w-

(Y)? (X)3 _ 7Y - 3X
13) (Y)4X- (X)4V - 4XV

3X(V + 1) + 2X(V - 1) =
15) (V - l)(V + 1) (V + l)(V - 1)

3XV + 3X + 2XV - 2X
(V - l)(V + 1)

5XV + X
(V - l)(V + 1)

R ..RS R+S
16) T +..RT = -T-

mi\:,
»



2B

1) incorrect

2) incorrect

3) correct

4) correct

5)
y4 + y2

y2

6X + 3A + 3X
6) 3

9X + 3
(X + 1)(X - 1)

3
4

~y2 + 1) = y2 + 1
y!

-8\2X + A + X) =3X + A..a-

7) 16X3y + 8X2y ,P'f(8X2 + 4X)
2XY ~ 8X2+4X

A-B"C2(AB2C2-1)= C2(AB2C2 -1) or

8) ~ ,AB2C4 _C2

2R+2 _ 2~ = 2
9) """(R+1f - ..(.Ek"1")

10) 5X2 - 5A2
5A

=5lX2 - A2) = X2 - A2
.-l3"A A

8(X - 2) -1(X + 2) 7X - 18
11) (X + 2)(X - 2t (X - 2)(X + 2) = (X - 2)(X + 2)

.1..{AID ....§..(gL AB + 12
12) 2(AB) + AB(2) = 2AB

8(B) 3(A)
13) 2A(B) - 2B(A)

8B - 3A
TAB

XY(X) z)v(Z) _ X2y + Z2
14) --z(X) + lQi'(Z) - XZ

15) (2)X2 _ (3)X + (2)2 = 2X2 - 3X + 4
(2)3 (3)2 (2)3 6

X(X + 1) 3Y(Y) X2 + X + 3y2
16) Y(X + 1) + (X + 1)(Y) Y(X + 1)

2C

1) 1 -1 =0, correct 14) A-3B4

2X 3
---+---X+6 X+62) incorrect, should be

[ 1 2 3J15) 2-=-P -1- 70=
2 5 7

-s.x 'B-C
3) -:s:- + ~ = X + C

[
..2... =.2..p - ~ l70 =

2 5 7J

175 = 28P - 100
3~Y2 '!M6 _ 3y2 _64) --;g:- - "9.. - 275 = 28P

28 28 P=9~
28

4 2"'0"!N(2y'11-+ "1\-.,)( p< = 4X2 Y + 2X
5) ~~ ~N.

16) [.2X + .03X = .69J100

20X + 3X = 69

23X = 69 X = 3
(2)A C 2A + C

6) (2)B +2B=~

7) (7)X + (4)Y = 7X + 4Y
(7)4 (4)7 28 17) -7B + 28 + 21B

8) ~ + ~ = 25 + X2
5·X X·5 5X 18) X2YZ + Xy2Z + XYZ2

9) 6X9

10) XO= 1

19) -4' 32 + 2 - 5 -16 - 221=

-4 .9 + 2 - 5 - 16 =

-36 + 2 - 5 - 16 = -55

11) 10.8 or _1_
108

12) X=3

1
20) (6 + 3)2 - (4 - 8)2 + 3 + 3 =

1
81-16+3+3=

81 - 16 + 9 = 74
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20

1) incorrect 2 3 5
-+-=-

666

2) correct

4) (X+1)~)
(*.....!) =X+1

4 2
28-. NA2

5) "1-.. - ~ =4-2A2

8(X + 2) 10(X + 1) 18X +26
6) (X + 1)(X + 2) + (X + 2)(X + 1) = X2 + 3X + 2

7 9(2) _ 7 - 18 -11
7) 4'Y- 2Y(2) - 4Y =4V

A .C B. B AC + B2
8) B . C + C· B = Be

9)
1 1 1 1

-.;.82=-x-=-
85 85 82 87

8
1 1 . -1-

10) (21 )3 - 1 8
""8 ·-1-

= 8

or 1 .;.1/8= 1 x 8/1 = 8

11) 7-8
1or
78

12) X = 3

(1 000000 = 106),

13) 3A2B-1

14) B3k4 or ~ or .L B3k4
6 6A4 6

15) [+-+p= ~J70=

35 - 28P = 30
5 = 28P
P = 5/28

16) [7.2 - 3 = .07X]100

720 - 300 = 7X

420 = 7X X = 60

17) 9XY(-8Y + 5X)

18) 6A(3A - 4B3)

19) (-6)2-8N+11=-3

36 + 14 = 8N

50 = 8N
N=50/8=61/4

20) B(6+6f +boo- f 1-14= 5· 9+4

B (12)2 + 1991-14= 45+ 4
144B+99 -14 = 49

144B+85= 49
1448 =--36

B=-2-
4

2E

1) correct

.z, +~= 12-
X X X

14) p8p2=p10
2) incorrect

2(X) 3(X + 1) 5X + 3
X + 1(X)+ X(X + 1) = X2+ X 15) [.024F + F = .56] x 1000

24F + 1OOOF= 560
F = 35/64AX

2

AX
2

3) 6Y 6X- --+--2 2
- 3Y + 3X

16) ~0~B+3-1- =1~l24=L 3 6 8 J
[
~ B+..J.2. =~ l24 =

3 6 8J
256B + 76 = 45
256B = -31

B = -31/256

-!f# ....frf{ A 1
5) J.UI" + :J.21'\ ="2 + ""2

2 2

4(3) 1(X) 12 + X
6) X(3) + 3(X) - ~

17) 230X - 7Y

7) X(X+2) 4Y(Y) X2+2X+4Y2
Y (X + 2) + (X + 2) (Y) = Y(X+ 2)

18) 9A + 20 + 3,000 =
9A + 3,020

30 2(0 + 1)
8) (0 + 1)0 + 0 (0 + 1)

50 + 2
(0 + 1)(0)

30 + 20 + 2
(0 + 1)(0) 19) (2/3)2 - 9Y = 8(Y + 3)

4/3 - 9Y = 8Y + 24

-222/3 = 17Y
1 -68 1

17x :3 = 17Y x 17
Y = -68 = _--±...

51 3

9) 32X2

10)

8-3 1
11) (5) = 5-24 = -

524 20) 49.;. 7 - 6 = 14R - 28R
7 - 6 = -14R
R = -1/1412) 76


